Calculating MCAIP payments

Table of contents

Please select the appropriate link.

2024 MCAIP payments

2025 MCAIP payments



Calculating 2024 MCAIP payments

The Medical Condition Assessment Incentive Program (MCAIP) aligns with the Medicare Advantage Primary Care Physician Incentive (MA-PCPi) program. MCAIP offers 3 bonus opportunities when you assess suspect medical conditions for your patients.

This guide can help assist you in calculating your quarterly and annual Medical Condition Assessment Incentive Program (MCAIP) payments.

If there is a difference between this document and the program Terms and Conditions, the Terms and Conditions control.

MCAIP Incentive Payment Summary

You can find information about your quarterly/annual incentive performance and payment on the MCAIP Summary and Suspect Detail worksheets, which are available in your Patient Care Opportunity Report (PCOR). To access your PCOR, sign in to the UnitedHealthcare Provider Portal and select **Documents & Reporting**, then **Physician Performance Based Compensation Program**.

Payment information

Your payment information will be available in your PCOR quarterly as follows:

- Q1: July 2024
- Q2: October 2024
- Q3: January Runout 2025
- Q4: April Runout 2025

The payments are based on your attributed membership at the time of payment.



Questions?

If you have questions, please visit our **Contact Us** page.



MCAIP suspect assessment earning opportunities

To calculate your bonus earning opportunities, please reference the MCAIP Summary within your PCOR, as well as the following chart.

For each suspect assessment bonus you close for a member, we'll multiply it by the payment per activity.

Bonus opportunity	Payment amount	Total suspect conditions assessed
Suspect assessment bonus	\$20	#
Fully assessed bonus ¹	\$10	#
Fully assessed bonus and suspect assessment bonus	\$30	#

Example Q2 MCAIP payment opportunities

Bonus opportunity	Payment amount	Total suspect conditions assessed	Earning opportunity
Suspect assessment bonus	\$20	110	\$2,200
Fully assessed bonus	\$10	29	\$290
Fully assessed bonus and suspect assessment bonus	\$30	8	\$240
			Total: \$2,730

2024 dates of service	Suspect medical conditions assessed using Practice Assist or claims processed and paid through	Payment date ²
Jan. 1-March 31	May 31, 2024	July 31, 2024
April 1-June 30	Aug. 31, 2024	Oct. 31, 2024
July 1-Sept. 30	Nov. 30, 2024	Jan. 31, 2025
Oct. 1-Dec. 31	March 31, 2025 ³	May 31, 2025

Medical condition assessment superior bonus

You can earn the superior bonus if you achieve at least a 4.00 Average Star Rating in the MA-PCPi program and assess at least 65% of suspect conditions.

Percentage of suspect conditions assessed	Medical condition assessment superior bonus
95% and above	\$125 per member per year (PMPY)4
85–94%	\$100 PMPY
80-84%	\$75 PMPY
75–79%	\$50 PMPY
65–74%	\$25 PMPY
64% and below	\$0 PMPY



Example of medical condition assessment superior bonus

If you achieve a 4.05 Average Star Rating in the MA-PCPi program and assess 78% of your eligible patients' suspect conditions by year's end, you can receive \$50 PMPY.

Percentage of suspect conditions assessed	Medical condition assessment superior bonus	Total MCAIP members	Earning opportunity
95% and above	\$125 PMPY	#	#
85-94%	\$100 PMPY	#	#
80-84%	\$75 PMPY	#	#
75–79%	\$50 PMPY	640	\$32,000
65-74%	\$25 PMPY	#	#
64% and below	\$0 PMPY	#	#

Resources

For more information, please visit our **Medical Condition Assessment Incentive Program** page and view the Terms and Conditions.

[&]quot;Within the April Runout PCOR, your MCAIP Total Members is shown in the MCAIP Health System Summary Tab or MCAIP Group Summary.



¹Fully assessed bonus earning opportunities will show in quarter 2 payments. They are calculated the same way as the suspect assessment earning opportunities.

²To ensure that you are reimbursed as outlined, we'll review your claims and Practice Assist submissions for the previous quarter(s) and make additional payments, if applicable.

Practice Assist submissions are timely if submitted no later than January 10 following the end of the applicable MCAIP Term.

Calculating 2025 MCAIP payments

The Medical Condition Assessment Incentive Program (MCAIP) aligns with the Medicare Advantage Primary Care Physician Incentive (MA-PCPi) program. MCAIP offers 3 bonus opportunities when you assess suspect medical conditions for your patients.

This guide can help assist you in calculating your quarterly and annual MCAIP payments.

If there is a difference between this document and the program Terms and Conditions, the Terms and Conditions control.

MCAIP Incentive Payment Summary

You can find information about your quarterly/annual incentive performance and payment on the MCAIP Summary and Suspect Detail worksheets, which are available in your Patient Care Opportunity Report (PCOR). To access your PCOR, sign in to the UnitedHealthcare Provider Portal and select **Documents & Reporting**, then **Physician Performance Based Compensation Program**. For more information, please see our **Patient Care Opportunity Report (PCOR)** interactive guide.

Payment information and schedule

Your payment information will be available in your PCOR quarterly as follows:

- Q1: July 2025
- Q2: October 2025
- · Q3: January Runout 2026
- Q4: April Runout 2026

The payments are based on your attributed membership at the time of payment.



Questions?

If you have questions, please visit our **Contact us** page.



MCAIP suspect assessment bonus

To calculate your bonus earning opportunities, please see the MCAIP Summary within your PCOR, as well as the following chart.

For each suspect assessment bonus you close for a member, we'll multiply it by the payment per activity.

Bonus opportunity	Payment amount	Total suspect conditions assessed
Suspect assessment bonus	\$20	#
Fully assessed bonus ¹	\$10	#
Fully assessed bonus and suspect assessment bonus	\$30	#

Example

Bonus opportunity	Payment amount	Total suspect conditions assessed	Earning opportunity
Suspect assessment bonus	\$20	110	\$2,200
Fully assessed bonus	\$10	29	\$290
Fully assessed bonus and suspect assessment bonus	\$30	8	\$240
			Total: \$2,730

2025 dates of service	Suspect medical conditions assessed using Practice Assist or claims processed and paid through	Payment date²
Jan. 1-March 31	May 31, 2025	July 31, 2025
April 1-June 30	Aug. 31, 2025	Oct. 31, 2025
July 1-Sept. 30	Nov. 30, 2025	Jan. 31, 2026
Oct. 1-Dec. 31	Feb. 28, 2026³	May 31, 2026



Medical condition assessment superior bonus

You can earn the superior bonus if you achieve at least 60 Performance Points in the MA-PCPi program and assess at least 65% of suspect conditions.

Percentage of suspect conditions assessed	Medical condition assessment superior bonus	
95% and above	\$125 per member per year (PMPY)⁴	
85-94%	\$100 PMPY	
80-84%	\$75 PMPY	
75-79%	\$50 PMPY	
65-74%	\$25 PMPY	
64% and below	\$0 PMPY	

Example

If you achieve 73 Performance Points in the MA-PCPi program and assess 78% of your eligible patients' suspect conditions by year's end, you can receive \$50 PMPY.

Percentage of suspect conditions assessed	Medical condition assessment superior bonus	Total MCAIP members	Earning opportunity
95% and above	\$125 PMPY	#	#
85-94%	\$100 PMPY	#	#
80-84%	\$75 PMPY	#	#
75-79%	\$50 PMPY	640	\$32,000
65-74%	\$25 PMPY	#	#
64% and below	\$0 PMPY	#	#



Resources

For more information, please visit our **Medical Condition Assessment Incentive Program** page and view the Terms and Conditions.



^{&#}x27;Your fully assessed bonus will show in quarter 2 payments. They are calculated in the same way as the suspect assessment.

²To ensure that you are reimbursed as outlined, we'll review your claims and Practice Assist submissions for the previous quarter(s) and make additional payments, if applicable.

³Practice Assist submissions are timely if submitted no later than January 10 following the end of the applicable MCAIP Term.

⁴Within the April Runout PCOR, your MCAIP Total Members is shown in the MCAIP Health System Summary Tab or MCAIP Group Summary.